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4.4 Properties of Logarithms

Product Property: logy mn =

: lorjbm+|03bn

Power Property: log, m? =
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Quohznf Property: log, —

Root Pr-oper-ty lo(_:*l J—

Remember: log.m = \nm
logiom = log m
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Expressin terms of sums and differences of logs:
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Writeas asingle log: S%Al sl\
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7. Graphy = Inx. Find domain, range and intercepts.
8. Graphy = In(x+ 1). Find domain, range, and intercepts.
D:
R: D:
x-intercept(s): R:
y-intercept(s): x-intercept(s):

y-intercept(s):
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9. Name the transformationthat takes place fromy = In x to
10. LetazInx,bzInyandc=In2. Find each of the followingintermsof a, b, & ¢:
a  y=lnx+3 b. y=lIn(x+3) c. y=In(-x)
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